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Übungen zu einfachen  Exponentialgleichungen    

 

1. ex = 21 
 

 

x = ln(21) ≈ 3,04 

2. ex+1 = 20 
 

 

x + 1 = ln(20)  x = ln(20) – 1≈ 1,996 

3. 6 ∙ ex-8 = 2 
 

 

ex-8  = 
1

3
  x – 8 = ln(

1

3
)  x = ln(

1

3
) + 8 ≈ 6,9 

4. 𝑒𝑥2
 = 20 

 

x² = ln(20) x = ± √ln (20) ≈ ± 1,73 

5.  −ex = 12 
 

 

ex = –12 
keine Lösung, da ex > 0 

6. 30 ∙ e3x – 60 ∙ e4x = 0 
 

 

 

30 ∙ e3x ∙ (1 – 2 ex) = 0                         (denn e3x ∙ ex = e3x+x = e4x) 
 30 ∙ e3x= 0 v 1 – 2 ex = 0 
 e3x≠ 0 v 1 = 2∙ ex 

 x = ln(
1

2
) ≈ –0,69 

 

7. 4 ∙ ex – 20 ∙ e3x = 0 
 

 

 

 

4 ∙ ex – 20 ∙ e3x = 0 
 4 ex ∙ (1 – 5e2x) 
 4 ex = 0 v 1 = 5e2x 

 ex = 0 v e2x = 
1

5
 

 ex≠ 0 v 2x = ln(
1

5
) 

 x = 
1

2
∙ ln(

1

5
) ≈ –0,8 

 

8. 7 ∙ e4x+1 = 14 ∙ e3x 
 

 

 

 

7 ∙ e4x+1 – 14 ∙ e3x = 0 
 7 ∙ e3x (𝑒𝑥+1 – 2) = 0 
 7 ∙ e3x (𝑒1 ∙ 𝑒𝑥– 2) = 0 
 7e3x = 0 v e ∙ 𝑒𝑥– 2 = 0 

 e3x ≠ 0 v ex = 
2

𝑒
  

 x = ln(
2

𝑒
) ≈ –0,31 

9. 𝑒√𝑥 = 𝜋 
 

√𝑥 = ln(𝜋) 
 x = ln(𝜋)² ≈ 1,31 

10. √𝑒2𝑥 = 5 

 

 

√𝑒2𝑥= (𝑒2𝑥)
1

2 = ex 

ex = 5  x = ln(5) ≈ 1,6 

 


